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Ahmedabad Arts and Commerce College
Assignment
B.Com. Semester — 3

Sub: Commercial Communication -3

Q.1 (A) Answer the following questions in brief:

1)
2)
3)
4)
5)
6)
7)
8)
9

Why was the statue of the Happy Prince weeping?

What is different with the new hunger the boy felt?

Who helped Jesse Owens during qualifying jumps? How?
What did the Happy Prince ask the Swallow to do?

What did the grandmother do before she passed away?
What did Abraham Lincoln promise his stepbrother?
How did the grandmother take care of the author?

What did the stepbrother want from Lincoln?

What did the boy’s mother feed him to control his hunger?

10) What made Owens an angry athlete?

Q.1(B) Write short notes on any THREE of the following:

1)
2)
3)
4)
5)

The Statue of the Happy Prince

The Significance of the boat journey
Abraham Lincoln’s advise to his brother
The character of the grand mother

Jesse Owens as an athlete

Q.2 Write a short note on any ONE of the following:

1)
2)
3)

Importance of Time Management
Netiquettes
Leadership Qualities

Q.3 Attempt any ONE of the following:

1)

2)

On behalf of an active member of an NGO, write a letter to the Manager of a Bank requesting bank’s

support for Social Welfare.

Write a letter to the Manager of your Bank intimating about the loss of your Debit Card.

Q.4 Match the following:

1)
2)
3)
4)
5)
6)

A B
Ornithology a) Which lasts forever
Fatalist b) Infectious
Incredible c) Easily deceived
Eternal d) The Study of birds
Contagious e) A person who believes in fate
Gullible f) Impossible to believe



Q.5 Select an appropriate option from the given options:

1) The Swallow went to for the winter.
(@) Asia (b) Egypt (c) Jordan (d) Tel Aviv

2) Lincoln calls his brother

(@) Lazy (b) Selfish (c) hard working (d) an idler
3) The grandmother fed in the city.
(a) cats (b) Sparrows (c) fish (d) dogs

4) The boy’s mother told him that they were going to
(@) New Orleans (b) Chicago (c) Memphis (d) Austin

5) Correspondence means

(@) Communication (b) talk between two groups (c) Medium of Email (d) face to face communication.

6) The word “Glutton” means

(a) greedy eater (b) a looser person (c) Winer (d) a peaceful person

7) “Autobiography” means

(a) a story of animal (b) a story of bird (c) a story of a person’s life written by himself (d) a story

of neighbour

8) The prince had become
(@) Blind (b) Dull without shine (c) Ugly (d) All of these

9) Who has written the story ° I am hungry’?
(@) Abraham Lincoln (b) Richard Wright  (c) Jesse Owens (d) Oscar Wilde

10) Time management includes:
(a) Effective planning (b) Setting goals and objectives (c) Setting deadlines (d) All of the
above

11) The functions of a bank are
(@) To receive deposits of money  (b) To grant loan (c) To discount bill of exchange (d) All of
the above



12) The word “debit” means
(a) Money is taken out of the account (b) Credit (c) Loss (d) Net

13) ‘Optimist’ means:
(a) Hopeful about the future and past (b) Hopeful about the present (c) Hopeful about the
future (d) Hopeful about past, future and present

14) The word “amicable” means
(a) Pleasant to each other (b) Who behave always like enemy in every situation (c) Always struck
in problems  (d) None of these

15) The word “Vegetarian” means:
(@) Who doesn’t eat Vegetables (b) Who doesn’t eat Food  (¢) Who doesn’t eat meat and fish (d)
None of the above



Ahmedabad Arts and Commerce College,

Vasna, Ahmedabad

Subject: CostAccounting—1  Class—S. Y. B.Com(Sem-3)
Assignment - Year : 2023-24

Q 1 Explainthe Cost Classifications with advantages and limitations of cost accounting

Q 2 From the following data of Shree Krishna Ltd. Find out
1) Reorder level

) Maximum level
) Minimum level
) Average stock level
) Danger point
6) Safety stock
Maximum time lag for immediate purchase is half week. Reorder quantity 1,200units.

o1 bW N

Particular Maximum Average Minimum
1. Reorder period 5 ? 3

( Weeks)
2. Usage (units ? 70 60

per week )

Q 3 Vasundhara Ltd. has on 1st March, 2011 opening stock of 600 kgs of material “P” at Re. 1 per kg. The following
transactions of receipts and issues where made:

Date Particular Qty (Kgs) Rs.
2011
March 4 Purchase 800 960
" 14 Issue 400 -
" 22 Purchase 600 540
" 26 Issue 395 -
" 26 On verification shortage of 5 kgs was found
March 8 Issue 500 -
“ 18 Purchase 200 220
“ 24 Issue 150 -
“ 27 Issue 300 -
“ 28 Returnback fromproductiontostores ( 100 -
out of 08" April, *07 )

Prepare stock register for Material ‘P’ as per FIFO and LIFO method



Q 4 From the payroll of Desai Ltd. following data of the workers for January, 2011 isavailable. On the basis
ofthe data, prepare a statement showing total wages for the month and the labour cost per day of 8 hours.
Contribution to the provident fund and the Employees State Insurance (E.S.1.) is calculated on Basic salary
plus Dearness Allowance. Find out the total salary for one month also.

1) Monthly salary basic Rs. 3,000

2) Dearness Allowance p.m. Rs. 3,000 (fixed)

3) Perquisite to each worker Rs. 80

4) Leave salary 10% of the basic pay.

5) Employer's contribution to provident fund 8 1/3%
6) Employer’s contributionto E.S.1. 2%

7) Number of working days in a month 25

8) Daily working hours8

Q.5 In Arpit Co., the following particulars have been extracted for the quarter ended 31st March, 2007:

Particula Production Department Service Department

r A B C X Y
Direct Rs.15,000 Rs.22,500 | Rs. 30,000 Rs. 7,500 Rs. 15,000
Wages
Direct Rs.7,500 | Rs. 15,000 | Rs. 15,000 Rs. 11,250 Rs. 11,250
Material
No.of 750 1,125 1,125 375 375
Employee
Electricity 3,000 2,250 1,500 750 750
(kwh)
Value of Rs. 30,000 | Rs. 20,000 | Rs. 15,000 Rs. 5,000 Rs. 5000
assets
Light Point 5 8 2 3 2
Area (sq. 75 125 25 25 25
mtrs.)

The expenses for the period were:

Power Rs. 550 | Stores overhead Rs. 400
Lighting . Rs100 | staff welfare Rs. 1,500
Depreciation Rs. 15000| Repairs Rs. 3,000
General Rs.6000 | Rentandtaxes Rs. 275
overheads

Apportion the expenses of department Y according to direct wages and those of department X in the
ratio of 5:3:2 to the productiondepartments.

Compute the departmental overhead rate of each of the production department
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AHMEDABAD ARTS AND COMMERCE COLLEGE
ASSIGNMENT
B.COM SEMESTER -3
SUB: CORPORATE ACCOUNTING

Question 1:

The Indian Traders Ltd. proposes to purchase the business carried on by Gujarat Traders. Goodwill
for this purpose is agreed to be valued at three years’ purchase of the super profit based on average profit of

the just four years. The appropriate weights to be used are :

2008 1 2009 2
2010 3 2011 4

The profits for these years are :

2008 Rs. 10,100 2009 Rs. 12,400
2010 Rs. 10,000 2011 RRs. 15,000

On a scrutiny of the accounts the following matters are revealed :

(1) On 1% September, 2010 a major repair was made in respect of the plant incurring Rs. 3,000 which
amount was charged to revenue. The said sum is agreed to be capitalized for goodwill calculation subject
to adjustment of depreciation at 10% p.a. on reducing balance method.

(2) The closing stock for the year 2009 was overvalued by Rs. 1,200 to made for the purpose of goodwill
valuation.

(3) To cove management cost an annual charge of Rs. 2,400 should be made for the purpose of goodwill
valuation.

(4) Capital employed in business is Rs. 80,000 and expected rate of return is 10%

Compute the value of goodwill of the firm.



Question 2:
The following is the balance sheet of Jagit Co.Ltd. as on 31-3-12

Liabilities Rs. Assets Rs.

2,000 6% Preference Fixed Assets 5,00,000
shares of Rs. 100 each 2,00,000 | Current Assets 2,50,000
5,000 Equity shares of Rs. 100 5,00,000 | Preliminary Expenses 50,000
each

Reserve 50,000

Depreciation Fund 30,000

Creditors 20,000

8,00,000 . 8,00,000

Other Information:

(1) Fixed Assets are valued at Rs. 6,00,000.

(2) Current Assets are valued at Rs. 2,00,000.

(3) Preference shareholders have preference as regards capital and dividend.

Find out the value of Equity shares by Net Assets Method.

Question : 3
From the following information of Eklavya Ltd. prepare the Liquidator’s Final Statement of Receipts
& Payments :
Particulars Rs.

Cash on hand 78,000
6,000 Preference Shares each of Rs. 100 fully paid 6,00,000
24,000 ‘A’ Equity Shares each of Rs. 10 fully paid 2,40,000
6,000 ‘B’ Equity Shares each of Rs. 10 fully paid up Rs. 6.50 39,000
60,000 ‘C’ Equity Shares each of Rs. 10 fully paid up Rs. 5 3,00,000
1,20,000 ‘D’ Equity Shares each of Rs. 10 fully paid up Rs. . 3,60,000
Total Creditors (including Preferential Creditors Rs. 7,200) 9,21,000

Liquidator’s remuneration @ 10% of realization value of the assets.

(except cash) 78,000



Question : 4
Write Short Note :

(1) Non Banking Assets (2) Statutory Reserve
(2) Rebate on Bills discounted. (4) Contingent Liabilities

Question : 5
MCQ.

1. When there is increase and decrease in profit, then which profit is taken into account for calculating
goodwill?
(A) Capitalized Profit
(B) Weighted average profit
(C) Simple average profit
(D) Super profit

2. When risk is more in business then goodwill is
(A) Normal
(B) Less
(C) More
(D) Zero

3. In the case when face value of Equity Share is Rs. 100. Intrinsic value to RRs.  236. Market value
IS Rs. 240 and Expected value is Rs. 250, the fair value of the share will be -
(A) Rs. 328
(B) Rs. 218
(C)Rs. 175
(D) RRs. 170

4. If the fair value of an equity share of a company is Rs. 450 and its market value is Rs. 420, then the
intrinsic value of share is —
(A) Rs. 435
(B) Rs. 480
(C) Rs. 660
(D) Rs. 645



10.

Which of the following asset is not included in the classification of bank advances as per Banking

Act?
(A) Standard Assets (B) Sub-standard Assets
(C) Mortgage Assets (D) Loss Assets

The opening balance of Rebate on bills discounted account is -

(A) Credit Balance (B) Debit Balance
(C) Either Debit or Credit (D) None of the above
As per Banking Regulation Act, every bank has to transfer.............. of profit ot

Fund Account.
(A) 10% (B) 20%
(C) 25% (D) 5%

Which of the following is considered as unsecured creditors?
(A) Unpaid taxes of local government

(B) Employees’ Gratuity

(C) Employees’ Provident Fund

(D) Outstanding Expenses

In which order liquidation expenses and liquidators’ remuneration are paid ?
(A) after paying debenture holders with floating charge.

(B) after paying secured creditors

(C) before paying secured creditors

(D) after paying preferential creditors

Salary of tour clerks is monthly Rs. 15,000 each, Which is outstanding for last

Statutory Reserve

two months. How

much amount would be considered as preferential creditors at the time of liquidation ?

(A) Rs. 1,20,000 (B) Rs. 60,000
(C) Rs. 1,80,000 (D) Rs. 80,000
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AHMEDABAD ARTS AND COMMERCE COLLEGE
Assignment 2023-24
B.COM Semester-3
Sub: Economics (103)

Q.1: Answer the following Questions:
1. Discuss the quantity theory of money.

2. Explain the J. B. Say’s law of market.

3. Explain the investment multipliers and its linkages

4. Discuss the main causes of inflation.

Q.2: Choose Correct option:
1. How can the National income be measured?
(A) Income-expenditure-production
(B) saving- investment
(C) all of above
2. What should be deducted from GDP to get NDP?
(A) Indirect tax (B) subsidy (C) depreciation
3. The general form of equation given by Fisher is....
(A) PT=MV (B) K=MR (C) M=T
4. Inflation is measured by
(A) Consumer price index (B) Wholesale price index (C) Marshall’s index
5. Inflation is
(A)Long Term Process  (B) Short Run Process  (C)Uncertain
6. According to Keynes, motives for holding money are...
(A) One (B) Two (C) Three
7. Which among the following is considered to be the most liquid asset?

(A) Gold (B) Currency (C)Land



AHMEDABAD ARTS AND COMMERCE COLLEGE
Assignment 2023-24
B.COM Semester-3
Sub: Economics (103)

RREIDETRIENETI CTINEATINE
1. oLl URMIRl] Riegidefl AUl 52,
2. 9. 0il. el WR (Aol [y Huoxtdl,
3. 4315181 LSl el W], deli wifSuldlefl dul 2.
4. ldlell Yo s1RE1-] yAUl 5.
ugl-2. AR [dsey ue s:

1. AYTY w1ds ¥dl d Uil asiu?

(A) Hids-WA-GAllgel  (B) WUA-ASIQL  (C) wIUd o4y
2. NDP Qodd] HI2 GDPHIg g ¢ile sdMi w1d 872

(A) URl& 52 (B) U] (C) €URI

(5212 gIRL A M wIde M]S| Al ey B,

w

(A) PT=MV (B) K=MR (C) M=T
4. §dldl GIRLHMAH 219 B,
(A) AleS Mld YUSIS (B) weelloiy olld YAUSis (C) Higlddl Yusis

. §9lldl 2]

(9]

(A) dicl Alalsl ulsal  (B) aslatlals{l ulsal  (c) wlelad
6. 30o4 Y, o[8[ Audledl gl B...
(A) s (B) (C) A8l

. o{lAs el 58 Alel]l dy UdlEl(dd) Ault HisdIHi 241d 87

~

(A) o] (B) uaull <1y  (c) wHle



Q.1
Q.2
Q.3
Q.4
Q.5

AHMEDABAD ARTS AND COMMERCE COLLEGE
Assignment
B.Com. Semester - 3
Sub :- Indian Financial System

Explain the main components of Indian monetary system.?
Explain the characteristics of capital market and its functions.?
Give the meaning of mutual fund state its advantages and limitations.?
State the advantages and limitations of preference shares capital.?
Indicate the correct answer from the option given below.?
(1) Where was the world's first stock market established.?

(A) USA (C) India

(B) London (D) Japan
(2) When did the IRDA come into force ?

(A) 1972 (C) 2000

(B) 1991 (D) 2005
(3) Who regulate the money markets ?

(A) RBI (C) IRD

(B) SEBI (D) SBI
(4) What is called treasury bills ?

(A) T Bills (C) J Bills

(B) R Bills (D) E Bills



(5) How many types of commercial bills ?
(A2 (C)4
(B) 3 (D)5
(6) What is the meaning of receiving short notice money ?
A) Call money (C) Short money
(B) Money (D) All of the above
(7) Who controls the insurance companies ?
(A) RBI (C) IRDA
(B) SEBI (D) Central Government
(8) Who issues treasury bills on behalf of the Government ?
(A) State Government (C) Financial Intermediaries
(B) RBI (D) Capital market
(9) What are the types of NBFCS?
(A2 (C)4
(B) 3 (D)5
(10) How many banks were nationalized in 1969 ?
(A) 15 (C) 14
(B) 11 (D) 10
(11) How many types of LIC ?
(A) 2 C 4

(B)3 (D)5



(12) Which shares are mandatory to issue ?
(A) Equity shares (C) Sweat Equity shares
(B) Preference shares (D) All of the above
(13) When did FERA come into force ?
(A) 1970 (C) 1973
(B) 1965 (D) 1960
(14) Who regulates the money market ?
(A) RBI (C) IRDA
(B) SEBI (D) SBI
(15) When was the NSE established ?
(A) 1990 (C) 1994

(B) 1992 (D) 1996
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Q-1

Q-2

Q-3

ENGLISH MEDIUM

1) Define limit of a function and state rules of it.

. 1/2_
2) Find lim &2 "4
x—>-3 x+3

1) Define: Intersection of events, Independent event, Equally likely events,
Mutually exclusive events
2) Three bags contain 3 red, 7 black; 8 red, 2 black, and 4 red & 6 black balls
respectively. 1 of the bags is selected at random and a ball is drawn from
it. If the ball drawn is red, find the probability that it is drawn from the
third bag.
1) Define Mathematical Expectation of discrete variable. State its properties.
2) The First four raw moments about origin of a frequency distribution are
2,15,40,60. Find the values of 5, and S, .
3) For the following probability distribution find p, Mean and V(2x-4)

X -2 -1 0 1 2 3

P(x) 0.3 0.1 2p P p/2 0.25

1)Give the Probability mass functions of NBD and GD and state their

properties.

2) The probability Smita scores a goal is 0.78, what is the likelihood that she
will make her fifth goal on her eight shot? Find mean and standard
deviation.

3) A die is thrown and getting “5” regarded as success. What will be the

probability of getting first success in more than 4 trials.



Q-5 Choose the correct answer:
1) If f(x) = (3x3- 2x2+7x )/ 11x2-8x, What will be its limit at x=0.
a) 7
b) 7/8
c) 0
d) -7/8

2) The value of lim x4
x—2 3x—6

a) 1/3
b) 2/3
c) 4/3
d) 1
3) The value for which the function f(x) =x2-3x-4/x?+3x-4 is not
continuous
a) 4and-1
b) -4and1
c) 4andl
d) -4and-1

4) The value of lim s

x—00 2%
a) -1
b) 1
c) 0
d) o
5) What will be the value of P(not E) if P(E) = 0.07?
a) 0.97
b) 0.93
c) 0
d) Cannot find
6) What is the probability of getting atleast one head if three unbiased
coins are tossed?
a) 0.875



7)

8)

9)

b) 0.5
c) 0.05
d) 0.889

If a number is selected at random from the first 50 natural numbers,
what will be the probability that the selected number is a multiple of 3
and 4?

a) 4/25

b) 2/25

c) 7/50

d) None of the above
There are 3 blue socks, 5 brown socks, and 4 white socks in a drawer.
If two socks are picked up randomly, what is the probability that the
selected socks are of the same color?

a) 19/66

b) 0

c) 1

d) 4/11
Demand of products per day for three days are 21, 19, 22 units and
their respective probabilities are 0.29, 0.40, 0.35. What is average
expected demand?

a) 21.39

b) 22.29

c) 19.22

d) 62.00

10) Given E(X) =5and E(Y) =-2, then E(X -Y) is

a) 7
b) 5
c) 3
d) -2

11) The moments about origin are known as



a) Raw moments
b) Central moments
c) Bothaandb
d) None of the above
12) Find the probability that Shantanu’s fifth win happens when he plays
his eighth game.
a) 0.277
b) 0.274
c) 0.174
d) 0.177
13) What is the probability of getting first success in 9 th trial.
a) pq’
b) pg’
c) pq’

d) pq®
14) In an NBD if mean =24 and variance= 96, find g.

a) 0.25
b) 0.75
c) 0.45
d) 4.00
15) In a GD if mean =12 and variance= 36, find n.
a) 1/3
b) 2/3
c) 1/4
d) 1
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AHMEDABAD ARTS AND COMMERCE COLLEGE
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B.Com. Semester-3

Sub.: Taxation-1

Q1. Short note on Assessment and its types

Q2. From the following determine the incidence of tax for Mr. Jawan for PY 2022-23 with reference to

different residential status

Salary from India- Rs. 9,60,000

Interest on debentures of A Ltd- Rs. 48,000

Income received during previous year in Prague brought to India in the same year Rs 8,00,000
Income from Business in Singapore, business controlled and managed in India- Rs. 9,00,000

Q3. Shri Swiggy serves as an assistant manager in Dipkart Ltd. Calculate his taxable rent-free perquisites for
PY 2022-23
Basic salary- Rs. 4,32,000

Bonus- Rs. 24,000

Sales commission- Rs. 19,000

DA- Rs. 48,000

Education allowance for hostel expenses and educational expenses for 2 children- Rs. 15,600

The employee was given a rent-free accommodation owned by company in Bangalore whose annual fair rent
is Rs 72,000

Q4. Determine the gross annual value for each house for PY 22-23

Particulars Tiger Villa Pathan House Shershah Heights
Municipal value 54,000 39,000 54,000

Fair rent 65,000 48,000 72,000

Standard rent 59,500 42,000 60,000

Actual rent 75,000 36,000 72,000
receivable

Vacant period in 2 4 2

months

Rent received for 60,000 24,000 55,000
remaining period




Q5. Objective Questions
1. Which of the following is treated as direct tax?
A. Service tax
B. Excise duty
C. Income tax
D. Custom duty
2. When did India’s first Income tax Act come into being?
A. 1860
B. 1910
C. 1922
D. 1880
3. Which of the following statements is not correct?
A. Any receipt by a member from HUF is considered fully exempted
B. Casual income received by an assessee is fully taxable
C. In case of a partner his share of the profit from the firm is fully taxable
D. Scholarship received by a student for his education is fully exempted
4. What is the maximum amount of compensation received on voluntary retirement exempted?
A. Rs. 5,00,000
B. Rs. 3,50,000
C. Rs. 3,00,000
D. Rs. 2,40,000
5. Which of the following statements is correct?
A. Annual value means actual rent received less local taxes
B. Itis only the owner of the property who is liable to pay taxes
C. Net annual value of 2 self-occupied residential houses will be taken as nil
D. Income received by a tenant from a sub tenant is also assessed under the head house property income
6. Which of the following is identified as an artificial juridical person?
A. Jayanti Ravi
B. Experimental High School
C. Ms. Ramesh & sons
D. None of the above
7. Health and Education Cess is chargeable only in case of
A. An individual
B. An individual and HUF
C. Company
D

. All assesses



8. The rate of Education and Health cessis %
A 5
B. 4
C. 3
D. 2
9. Any sum received by Sukanya Samriddhi Accountis .
A. Taxable
B. Deductible
C. Exempted
D. None of the above
10. Pension received by a government employee is
A. Fully deductible from salary
B. Fully exempt
C. Fully taxable
D. None of the above
11. A specified employee is the one whose monetary salary income is more than Rs. __ per annum.

A. 5lac
B. 50,000

C. 10lac
D. 80,000

12. Interest in excess of % per annum in RPF is taxable.

A 9
B. 95
C. 10
D. 10.5
13. Standard deduction u/s 16(i)(a) isRs.
A. 1lac
B. 50,000

C. 25,000

D. 5,000

14. 1f a loan for repairs to a house property is taken after 1.4.1999 then the interest allowed for deduction is
maximum Rs.

A. 2lac

B. 1.5lac

C. 50,000



D. 30,000

15. Which of the following income from house property is exempted from tax?
A. Income from any 1 palace of an ex ruler
B. Income from a farm building
C. Income derived from a house property of a local authority
D. All of the above
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